CKYIIOBM (3agaun)

1)

 Jar je ckyn S =1{0,2,4,6,8,10,12}. Onpean ckynose :

A= xxeﬁ'n[é—ijeﬁ .
3 2
y’
B=+1ylyes +1|eN
Ny e ﬁ[},+4 ]E ;

C= {c‘|ce Naczbnacs lEnE'c} .

aTHM WIpauyHAa):
(ANB))UC ; (4\C)N(B\C) , P(B), BxA .

2)

Akoje A=1{0,12} , B={-11}uC ={E|p edrge 3} openu ;
q

a) (C\A)N(C\B),

6) CU(4UB),
&) C\(4UB) .

3)

Ako je AxB={a,a)
a) A\B
&) B\ 4
&) (A\B)N(B\ 4)
2) (4\B)U(B\ A)U(4N B)
d) P(4) .

(a,b),(a,c),(b

] 3 ] ]

u),{b,b),{b,c}} H3pavyHaj:

4)
Z[OKaBaTI/I CKYIIOBHC je,[[HaKOCTI/I:
1) An(B\C)=(4nB)\C
2) 4\ (B\C)=(4\ B)u(4nC)
3) 4\ (BNC)=(4\ B)u(4\C)



